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- MATHEMATICS -SETC

WTEH TS & U WHE & STHHE 1 Tof HEAT Y
The total number of subgroups of a groups of prime order is

A1l B: 3 C. 4 b 2

faet A oy BaR wY
Consider the mappings:

1.T:R3® - R? E@'RT‘lﬂ'ﬂ-‘l‘ﬁH definedby T(x,y,z) = (x+ 1,y + 2)
2.T:R®* >R mqﬁ'ﬂﬁﬂ'defined by T(x,y) =xy
3.T:R3 - R gaRTuURSTAddefined by T(x,v,2) = (|x|,0)

IRET & § FieT w1 f@F aiada &2

Which of the above are linear transformations?
A. 1,233 1,2 and 3

B. haw 132 1 and 2 only
C. daa 233 2 and 3 only
DEF’I'%'FI'tﬁ None

I G O HAT TR THF & A 6 F AN P aean g
If G is an infinite cyclic group then the number of generators of G are

A 3 B. 1 C.5 B. 2

IR (6) = 5¢20 + 1) — 2k, B [2(F x 20y dt

If (£) = 562 + tj — 3k, then [*(f x £L) dt

P
A. —14i +75j — 15k B. 14i — 75j + 15k
i 141'-— 75f— 15k D. 14i +5j+ 3k
PIe8 AR 9T e TOF HF & A Far g
What is the dimension of the vector space C over the field R is
A 1 B. WIRMAT  Infinite C. 2 D. 4

afé P (x) 315 Bl & @1y o wgue § A gue
If P(x) is a polynomial with odd degree then it

A FHEFH TH IEAAF T 8 has at least one real root

B. %dd Ush Il *e & has only one real root
C. mﬁamr-ﬁw% has all real roots
D. ¥t FFcFT T § has all complex roots




A0 f(x) =x IP={0, 3, 3, }THEBISAT[0,1] RATU(P, f) HL(P. f)
HHA: FATEIN
If f(x) =x on [0,1] and P = {0, %, %,1} is a partition of [0,1] thenU(P,f) and L(P,f)

respectively

Z. X 3 2
A== B.=,- G.
3'3 2'3

| =
3 | =
]

Bl oft o it diem 3R Aleg v 7w

The limit of any sequence if exists then it is a

A. %ﬂmﬁ‘ga'eﬁ % Not Limit point
B. ?ﬁ'ﬂTﬁ?_g Limit point

G H@Fﬁ'ﬂ'ﬂﬁ Not unique

D. Eﬁé‘ﬂﬁ None

aa‘hrmsoa:ug'agcrm%

Which is the prime factorization of 807

A 8x10 B. 4x2x10 C.2x2x2x10 D Sx2%2%2%2

10

HEAT 3~ AT § 3R

xN+aqh

The series ),

n

a . .
— o is convergent if

A x>=2a B. x >a C.x<a D. x<a

11

IR n deal & Ty R TRAT 3BT ST § &t R 7 911 & g e deal 1 TE&AT
FATE?

If R is the finite integral domain with n elements then what is the number of invariable
elements under multiplication in R ?

A1l B. n G n=i D.

SR

12

1 Vix?
Jo fo  xPydxdy =

2 3 4 1
A =— B — O D. —
15 15 15 15

13

IRo=(135711)(2 4 6) €5, A TGN BIET WHRIcHS YUITH n FATE
o" = g37

letc=(1 357 11)(2 4 6) € S;;. What is the smallest positive integer n such that
g = 0'37

A.3 B. 5 C. 7 D. 11

14

ZTH W FieT AT FT U HTFA TG &

Which of the following is not a domain of a sequence?
A. Td, Wmﬁﬂ'ﬁ'@t N, the set of natural numbers

B. Y, TAHREIT HEATHT ST AT Q, the set of rational numbers
C. s, t!‘\U'I‘I'ﬂl? FIdC Z, the set of integers
D. IR, I HEAT FT AT R, the set of r numbers




15

I 2 + 4y? + 922 — 12yz — 62x + 4xy + 5x + 10y — 152 + 6 = 0 WHAEIGRK aa
1 SISt 1 wfafaflc Far ¢ ot s da Hr gl Far e

If x% + 4y% + 92% — 12yz — 6zx + 4xy + 5x + 10y — 152 + 6 = 0 represents the
pair of parallel planes then the distance between them

A B.

C.
14

sl
sl
2l

16

s FA & g ARTw F1AuRF FaT
The determinant of a skew hermition matrix of odd order is

A. ﬁﬁﬁ'ﬂ'ﬂ-‘dﬁ'ﬁ Purely real

B. ﬁﬁﬁ'm Purely imaginary

C. ﬁwmmﬁﬁm ArT Purely imaginary (or) zero
D. Hﬂ%’ﬂ'ﬁ None

17

22U 92U

1
— 2 2 2% il =<,
FIRU = (2% +y* +2°)7 AR — ay 7 =

2
If U= (x*+ y? +Zz)2 then a_g+a_u+a__

az?

A. 4U B. C. 2U D. —

(=l RN
S

18| FieasistnF s e ARFE AR ARIF (4) <n-2% @

If A is a square matrix of ordern and if Rank(A) <n—2 then

A3® (Tsdlgee 4) = 1 Rank(c;dj A=1

B. Y& (Udgec 4) = n—2 Rank(adj A) =n —2

C. ¥& (usdTssc 4) = 0 Rank(adj A) = 0

D. ﬂﬂé’ﬁ'ﬁﬁ None
19 | forrer 1 @ ey a1 g war e

Which of the following points are collinear

A. A(3,-2,4),B(1,1,1),C(—1,—4,-2) B. A(-3,-2,—4),B(-1,-1,1),C(-1,4,—-2)

C. A(3,—-24),B(1,1,1),C(-1,4,-2) D. A(3,4,2),B(1,1,1),C(—1,—4,2)
20

AHTET n & woft ey wafda AT & e i ol Rt Hr o
The number of non-trivial entries in set of all skew symmetric matrices of order n is

A.n-—1 B.n+1 Cn D. n!




21

quites & WHE (2, +) & e 3TwE A g Fary

What is the number of proper subgroups of the group (Z, +) of integers

A0 B. 1 ‘ C. 2 D. 3ARAT  Infinite
22 | fres F ¥ MT IERIT AT FATE

The number of proper ideals of a field F are

A 1 B. 2 C.0 D. #SEN  None
23 | R & Bl oy STmeTeRw afy A 3 B § U@ D(S)Sqruea AE S C R A gMAE A

If A and B are any subsets of R and D(S) denotes the derived set of S € R then

A. D(AUB)=D(A)+D(B)-D(ANB) B. D(AUB) = D(A)D(B)

C. D(AUB) = D(A) UD(B) D. D(AUB) = D(A) n D(B)
24

3R 3T FHIHIOT H FgaT A H FEATR
The number of Independent variables in a partial differential equation is

A. FAFH A Exactly two B. AT HFAGT At least two

C. +adad TH Only one D. EARITT Always five

25

R n > 1, 3™ + 421 fiEd @UIRNET§
Forn =1, 3" + 42" 1js divisible by

A 2 -B. 13 C. 15 D. 5

26

THRIcHS ASa] T TH AT ¥, u,, AT ¢ 3TN
A series Y. u,, of positive terms is divergent if

A lim,_,,u, >0 B. imu=20 C. lim,,,, u, =—2 D. None

TT=00

27

déd x=3(cos t+sin t),y=4(cos t-sin t)dl Eﬁﬁﬁﬁm?
What does the curve x = 3(cost + sint),y = 4(cost — sint) represents

A. SR Ellipse B. Y{dedd Parabola

c. sfemif@a  Hyperbola  D. Jed Circle




PHYSICS -SET C

28

Frfe 7% & 5ot F F R}
The Camot cycle consists of

A G ATEX AATUfFAT  Two constant volume process
B. &Y eTIAR &1 9f$AT Two constant pressure process
C. Y suueF ufhar  Two isenthalpic process
D. 1 MMSWUAT UFHAT  Two isothermal process

29

I & At T HR m 1 3 m 2 (m 1> m 2) § 3R T o wore afder saT E, ar

geqd T ml fasrr i afe gegae m2 R Arafy g

If two bodies having masses ml and m2 (mI>m2) have equal kinetic energies, the
momentum of body having mass ml is the momentum of body having mass
m2.

A. & SET equal to B. ¥ &# less than

C. 8 3®F greater than D. ¥ FeT 8l not related to

30

tafar SR yner aia & A ve Ageaqut gAEar 9% § Bet

One important similarity between sound and light waves is that both

A. B oft Arenw F 3 A Y v Fvasa & can pass through even in the absence
of any medium

B. 3‘(7‘_;‘1?21' HBT %’ are transverse waves
C.gdarl A s ﬁ LIGE:EIEIE TG %’ travel at the same speed in air
D. §Fd819 Y19 e aoa '3' can show interference effects

31

Ueh goiaeiel H Fail & AT ST TROMA giar §

Loss of energy of an electron results in

A. WICTeT T 3@RMYUT absorption of photon  B. WYEYe 3cHstel emission of photo
C. WY &T f@ATr destruction of photon D. ®IeY & fA#ATOT formation of photon

32

IR ATEIA & FHUIT T F9T AT & EIigel Fort 1 o & grar & ar vt e el @

[f particles of medium vibrate at right angles to direction of velocity then wave is

A. 31?[&321' longitudinal B. ATST Transverse
C. JHFEAF Abrupt D. HETS sound ~ *




33

RIS & Tgd el 518 § frerd g wafta @
The first law of thermodynamics deals with

A. Tt T HI&TOT Conservation of mass

B. TwTdY ST HI&TOT Conservation of enthalpy
C. oIl T HI&TOT Conservation of energy

D. | T TIETOT Conservation of momentum

34

&§ Tl & WYF IHIT & T F F4T Fgl Sl §
Combined effect of several forces is known as

A. FA T net force B. TIRunAe erfehd resultant force
C. 9THT def normal force D. #X weight

35

T TS h #a:ﬁ:rwqg’aﬁwﬁma?mﬁrg’t?ﬁ%
The velocity of a body on reaching the ground from a height h, is

A.2,/gh B./gh C./2gh D.2gvh
36 | U Wield Fad ST RN 8

A proton is made up of

A. U&H T g1 A ST A Famh  one up quark and two down quarks

B. U& 3T FaTe A s3T vfear®  an up quark and down antiquark

C. QY FUT FaH AT TH AT FAF  two up quarks and a down quark

D. Ft}Gl' FaTd AT T\'ﬂ'ﬁ}? FdT%  strange quark and an anti-strange quark

37

IR T 40 aTE AT 1750 G & B 9Te] @1 § A s@hT Pelare- e i @ud F41 8

What is the kilowatt-hour consumption of a 40 W lamp if it remains on for 1750 h?

A. 4375 B.70 C. 43,750 D. 70,000

38

FaFerT Bads THTE A ¥ w3k 3ad & five 9o $ed HEd sAw e §

Electrons show diffraction effects because their de Broglie wavelength is similar to

A. GIHATT q{al & &I WX spacing between atomic layers
B. 9I{ATI] AT HTHEAT  no. of atomic layers

C. 9IHAT LG Flfﬁ' nature of atomic layers

D. YA qyar 1 Bufd  positioning of atomic layers




39

gotel 423 ATH & ol selich T aT9ATRT 0.1 Biff Afcaaw % 9¢ S1ar & TU=and
AT Y 1o Y ST F fAT B < i i BRIse AT arEar 385 S & Bhelr' @

The temperature of a copper block of mass 423 g rises by 10.1°C. Calculate the heat
transferred, given that the specific heat capacity of copper is 385 J K" kg™

A. 385 ] B. 1.63 Bl S kI
C. 1.10 Bl S kJ D. 25.6 Bl ST kJ
O |\ ardtEf AT FFAa e

Measurement which is close to true value is

A. ®EF accurate  B. 3itaa Average  C.WHHTSH Precise D. @I error

41

Ife Faeq gEAffa® s Y FSAT En=nhv, n=0,1,2,3,...0 &, a& AT A
YUTTel! &hT BT AHRIE F4T 19T

If the energy of a quantum harmonic oscillator is En=nhv , n=0,1,2,3,....0, the partition
function of the system of oscillators is

_ha ha 1 1
A.e kT B.ekr Co=g5— I}, —g
ekT—1 1—ekT

42

o & @ Fia @ @F afa 1 v geliwwor &2 (&8, v 3T v = iR F ol ik
HAFA AT 8, a = WR F caor 7, 3 s = W & Feyms (AFs AT )

Which of the following is an equation of linear motion? (where, u and v = Initial and final
velocity of the body, a = Acceleration of the body, and s = Displacement of the body in
time t seconds.)

A.v=utat  B.s=ut+tl/2at2 C.v2=u2+2as D. all of these
43 | Ta3TE sHTFAI A B I FHTE §

The unit of work in S.I. units 1s

A. #gZe newton B. W Erg C. BT kgem D, S joule
44

T 81§ TSI aTelY GahIy 83 ATgel & HIHG HI T AT

Total number of magnetic field lines passing through an area is called

A. i;ﬁﬁ'ﬂ‘ 9dTg &l Helcd magnetic flux density

B. 91T 9aTE magnetic flux
C.gaFgl-gahgdar  EMF.
D. dleest voltage

45

e & @ wie w1 amsfRTe dw wHiEor #Y afenfa Far 2 Sigi p - It gare, v =
faflrse wman, T = ot arwme it R = 3w R §

Which of the following defines the ideal gas equation? Where p=absolute pressure,
v=specific volume, T=absolute temperature and R=Gas constant

A. pv=RT B. pR=Vt C. pT=vR D. p=v/RT




46

Af v UITel Y Fret AT it AR ARFEH TFHT F TG YT 81 A &, A THI
g

If total kinetic energy and momentum of a system becomes zero after collision, then
collision is

A. eldhel¥ clastic B. Aeidehg Inelastic
C. ®Id Conserved D. 38T Not conserved

47

Regd TFah AR 1 BN B AT § ST S @

Photon of electromagnetic radiation 18

A. WY aray B. #leTY B ray C. AT y ray D. TFH Y x-ray

48

oy Bt o ax ot el it o Bl v o wRoTet @er o Y Y 3w feen A
YT &1 FoT WA I @AT &1 T§ HYUA Fgl oA §

The total momentum of a system of masses (i. e. moving bodies) in any one direction
remains constant, unless acted upon by an external force in that direction. This statement
is called

A. vgZel I e ager Ifa AIH  Newton's first law of motion
B. Fﬂ‘\ET-I' &1 fear E,EFRT Afad AFIHA  Newton's second law of motion

C. Tl TI&T0T 7 B Principle of conservation of energy
D. Ha |40 &1 fBga Principle of conservation of momentum
49 | gadY & uftade s Far g

Change in entropy dépends .........
A. &ae T F EATEIOT I Only on the transfer of heat

B. shael dIYATA #H gEaTd WX Only on change of temperature
C. aaT & EFA'IHT“T LKy On transfer of mass
D. UAfERARAS T T On the thermodynamic state

50

If 2ol FY Y eaHT & e TR el & WIY ShAT AT §, & & |IY & Tefed 8

If a trolley collides with a stationary trolley of double mass, then they move off with
A Hd 97 FT 3T H half of original velocity

B. HeT AN FHTUH fATTE &/ one third of original velocity
C. gl HqeT T | double original velocity
D. EﬁFI'?_.I‘F{T Ao AT triple original velocity

10




>l | e faehT 1 ws A Tele & R, 30 W v 7o Aleg g1 § o fr 3w g F Fa A
T AR g1 §. I o B A1 A ST ST §
In order to keep a body moving in a circle, there exists a force on it that is directed
toward center of circle. This force is known as
A IRFT T Centrifugal force B. Wﬁ?ﬂ'@' afd Centripetal force
¢ W‘i"ﬂ el Gravitational Force D. ﬂ‘iﬁﬁﬂr dol magnetic force
P2 | SR T e HT HTHT FIA GTel FHOT P! FUT Fg ¢
Particles that experience strong force are
A. deld Leptons
B. g3led Hadrons
C.A3RBEET Both A and B
D. W Softons
>3 | eI Helcd I Sh1S FAT 3
The unit of flux density is known as
A. T:_Iﬁﬁﬂ' erffd magnetomotive force B. U& daY a weber
C. #AFHAT a Maxwell D. Us AT a tesla
54

TS FHIG der A AT HY BT 0 T FHAT G § AR Orwewr ao Feater v @
@it ST @ §, 3T 397 Tt gem

The velocity ratio in case of an inclined plane inclined at angle 0 to the horizontal and
weight being pulled up the inclined plane by vertical effort is

A, sinf . B. cos 0 C.tan 0 D. cosec 0

11




COMPUTER SCIENCE - SET C

55

Bafta v BeA A, Ja B v F1 69 dag rua agaare
In distributed file system, when a file’s physical storage location changes
A. mwmmmmaﬂv File’s local name need to be changed

B. WISl &1 ATH dGolel o) ATATHTaAGI ¢ File name need not to be changed
C. mﬂmmmﬁ#muﬁn% File’s host name need to be changed
D. ms?-rama;‘rmmg’mr File name need to be changed

56

v Graate fa Beet FIaTE
A proxy firewall filters at the

A. STeT & T Data Link Layer B. UTHIheleT AT Application layer
C.seadh AT Network Layer D. BfaFer a™T  Physical layer

57

T ¥eT FI & TTY, T eRrem) o weRta B ST asdar g
A dashed line could be displayed by generating

A. W%&TF@T Inter dash spacing  B. H’%’%&T Short dashes
C.ATT B AorB D.QATA 3B BothAandB

58

T T & FROT, FAT F g1 & Bt R B s e @

Because of virtual memory, the memory can be shared among

A. 9RRIT3TT Processes B. HT:l:'a'Qﬁ' Instructions

£ ﬂ'&'ﬁ' Threads D. W#ﬁﬁ?aﬁﬂﬁ None of the mentioned
59 | frAi@d U Seed & gew 8, Fard

The following are components of a database except--------

A HET3ETH Meta data B. 3YANTHAT 3€TH User data

C. 9 & Reports D. é?wa? Indexes
60 | FTP T qUT T FATEIATE ¥

FTP stands for

A.mmmﬁ File transfer protocol

B. Wﬁ;‘lﬂﬁ?ﬁm\fﬂ Form transmission protocol
C. B m‘i’lﬂﬁﬁ' Form transfer protocol
D. WIS ETEALNE WIENhIa File transmission protocol

61

T TINTREH

An algorithm is

A. 3faH F13 a9 & Fv olga w18 A loosely written code to make final code
B. fsurfeer e STt arel IS &1 U gheT A piece of code to be executed

C. mﬁwmﬁﬂ:ﬁcmuﬁm#wm A step by step procedure to solve
problem

D.FUTH FHT  All of the above

12
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ereg T BweT TATTaT B q@RT AT T ST HFA &
Odd parity of word can be tested by
A.sIIXAET  NOR gate B.USAET AND gate

c.3RkAT ORgate D. FHR AT XOR gate

63

7 v o 37ae Agcaqel @ A suRa Y W d

If a process is executing in its critical section

A. WWWWWW#WWW% One more process can

execute in its critical section

B. mwﬁm#aﬂémmﬁmﬁaaﬁam% No other process can

execute in its critical section

c. el oft 3 o Y S Agea T WS A frsuifea s BemsmEward Any

other process can also execute in its critical section

D. Wﬁ'@'ﬂﬂ%‘aﬁﬁﬁ None of the mentioned

64

FogeT Aea® H, ATH FT 8T o
In computer network nodes are
A. 63'3?@13'{3!’! 2T &1 GATCT FIAT %’ The computer that terminates the data

B. WG’[?ZT@'WWT% The computer that routes the data
C. WET?ZTWWT% The computer that originates the data
D. 39T & Taft All of the mentioned

65 | AEI-IIIEY AEEH oTH / 4T VeI FlaT1 g

Multi-processor system offers a

A. ﬁﬂTg‘ﬁ’ﬂHﬁ’\Qﬂ' Loosely coupled system
B. mgﬁﬂr—rﬁ‘&w Tightly coupled system

C. oy fawes Small System
D.g=T A 3T B Both A and B

66

fri@a & @ Fla-a1 'g@-31-RAAART" F7 qvid FIarg?

Which of the following describes “Is-a-Relationship”?

A. oY Dependency B.sﬂ%ﬂ'ﬁﬂ' Inheritance

C. wafiarereT Aggregation D. Wﬁ'ﬁﬂﬁé’ﬁﬂﬁ None of the above
67 | ¥aq FuTeT wel U giare?

Swap space is located in

A Hdts cpe B. HT‘ETIIfﬂEI?F{ﬁ-'I' Secondary memory

C. yraf@® AFL Primary memory D. Wﬁ#ﬂﬂé’ﬁﬂﬁ None of the mentioned

68

Heroe SR aftader # ar affe ghar g7
Basic geometric transformation include

A. AT Rotation B. TehielaT Scaling
C. fefarg Translation D. U & @HT All of these

13
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70

e veniys

Decryption algorithm

A. W?Hﬁmm% Encrypts input data

B. thmﬁmm% Decrypts the encrypted data
C. A 3T B gt Both A and B
D.ﬁﬁ#iﬁéﬁﬂﬂﬁ None of the above

qut e As #

In the absolute addressing mode

A. 3TOYE & I arer oreeT &1 fAder & ey AfEse FATATATE  Register containing

the address of the operand is specified inside the instruction

B. ﬁma!:rqmiﬁar#amm% Address of the operand is outside the instruction
C. m‘h@ﬁi&rﬂ:mﬂm% Operand is inside the instruction

D. 3TYYE &1 TAT AT ghar %‘ Location of the operand is implicit

71

Teorere RS WA T3 7 FIATNHTOT Hd ATy B ST @7

How is generalization implemented in Object Oriented programming languages?

A. sﬂ%ﬁ'&? Inheritance B. mﬁ%m Encapsulation
C. '!?Faﬁm Abstract classes D. AT ANGHER  Polymorphism

7

Acad AWM FFH AA & Fad Refrgraare

Network layer is responsible for the

A. ﬁgﬁmﬁ?&ﬁ Hop to hop communication

B. ITdeT & MU gla Source to destination
€. H’E’g\ AT AT HFHT  Node to node communication
D.aTB 3R C Both B and C

~
w

STl S s HRT Ol H e A Al ar Ay
The functionalities of presentation layer includes

A. 3T &7 BT Data description B. 3T Uf=scarel Data encryption
C. 32T HFWAT Data compression D. 39T & FHY All of the mentioned
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Sead AT fweH Bad geard

Network operating system runs on

A. AT Server B. ﬂﬁﬁ?ﬁ'ﬂm Every system in the network
C.aTA 3B BothAandB D. mﬁ#aﬁ% 8ft sTET None of the mentioned
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Ty v agAa fsivar wadt § st 5+ Frters e @ @iy adi e, o 7w amak
R frreiof@e el ¥ v § 3eqe gl &

If a multivated dependency holds and is not implied by the corresponding functional
dependency, it usually arises from one of the following sources

A. U TS WE HT U agfdshed T RITAT A multivalued attribute of an entity set

B. ﬁ-ﬁ'—ﬂw‘é"&i‘q‘ﬂﬁf A many-to-many relationship set
G W—ﬂ'—%‘é"\'ﬁﬂ'ﬁ? A one-to-many relationship set
D. A 3itT B &t Both A and B
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Rafa voritat #, ve afbe o) Brad aryr ST AT ST e
In distributed systems, a logical clock is associated with

A. Ul ITIEET  Each Register B. Wl WBhAT Each process
C. 9cda @&  Each Instruction D. Wﬁ'#ﬂﬂé’ﬂﬁﬂﬁ None of the mentioned
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F 72 ey # Rvantt #1 yafafcs F FT 99 oTalw

The best way to represent the attributes in a large database is...
A. sre wrufafaf®ica Dot representation

B. EFﬁ Concatenation
C. HTHIIFH-IT Relational-and
D. 39T & |l All of the above
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ST i WHATT Tk &) 32T F) THIAT 7T F TFAH FId) § 3 Asargst & gRoma 36
By e 9T et aT & e v gl g, 399 FerAare

When several processes access the same data concurrently and the outcome of the
execution depends on the particular order in which the access takes place, is called

A. TERITS HA1AA  Essential condition B.Wmﬁl’ Race condition
C. SIITfA® HAR Dynamic condition D. RRRFAT HFAAUF Critical condition
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v, Praweitaran 3T geaT fud Aees §
Performance, Reliability and Security are criteria of

A, FIISTH ATTF  Efficient network B.%iﬂTrTE Ethernet

C.§CME Intranet D. 318 ¥ H1$ Y AL None of above
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A d ¥ ala e Haa ah 7Ei 8>
Which of the following statements is not correct?
A.N Fﬂ?fa'l'aﬂiﬁiﬁﬁ' n-1 ﬁﬁﬂ'%ﬁ'? A tree with n nodes contains n-1 edges

B. Wﬂ?#@ﬂ?m% A tree contains a cycle
C. R%W@WW%‘ Every tree is a bipartitle graph
D. Wiﬁﬁ@gmw% A tree is a connected graph
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